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Paper : GE-2 (A)

( Plant Physiology and Metabolism )

1. (a) oo° NIRRT wa Tex A e : 1x3=3
Choose the correct answer of the
@ following :
() ATTEE TW I W @A IAAR S
AR = / e AR R eEiE
W / T TS IoR MW AWTF / W%
*AREAT 3w = |

The rate of transpiration is least in
high atmospheric humidity / good
soil moisture / high wind velocity /
dry environment. '
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(2)

(i) #IFe R a9 R IW?
(¢ /oW [ 'A% of oA )
Which metal is present in the

pigment chlorophyll?

(Iron / Copper / Cobalt /
*  Magnesium )
(i) znzgﬁwza CIRT ST WREF T
A IPA / IBA / PAC '/ IAA. :

The chemical name of naturally
occurring auxin is IPA / IBA / PAC /

L kLS R E | 1x2=2

2. 5y GR forn (R e fefeier) -

Fill in the blanks :
() CCTHFRR AR W T [l
. Enzymes are made up of ,
M IR Ry e
TR el : -
Rhizobium is the
fixing bacteria.

nitrogen

3x3=9

Write short notes oﬁ (any three) :

(@)

()
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T o e

Root pressure theory
AR AP
Photorespiration

( Continued )

(3)
(0 299 REoRs aftq
ABA ‘
(@ TR
Vernalization
(e) AT BFY
Significance of transpiration

3. Teome T fr | B b W Y Ry
e 2+4+4=10
Define enzyme. Write on the structure and
property of enzymes.

4. A afRE B2 TCA v 3=k 3 fran 2+8=10
What is glycolysis? Explain TCA cycle in
detail.

S%QT1 /Or
R i B w2 taRe Tiicew R Raa
b1 T O foran o 2+8=10
What do you mean by metabolism? Write an
explanatory note on . biological nitrogen
fixation.

5. TRw 3 Fuges e fin | Rcafeg o R
=R gier Ry frm 143+3=7
Define plant growth regulators. Write on
the physiological roles of gxbberelhns and
ethylene.
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(4)

wer/or

TANTE CIER /1 99 =11 = R [0
TR IR F RIre TG e 7= =S SR
3 0 2+1+2+2=7

‘Differentiate macronutrients from micro-
nutrients. What is mineral nutrition?
Describe the role of nitrogen and phosphorus
for the growth and development of plants.

€ S faER @RS 5 GRl B (R Qe

foRbR) : 4x3=12

Write short notes on the following (any three) :

(@ NI BoHPER |
Components of water

(b) T 2[R =

Pressure flow model

&

() Cz; =¥ C, Bfew
C3 and C,4 plants

(d) FRE'FR 1o+
Structure of phytochrome

(e) ®T TR Y

Composition of phloem sap
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(5)

Paper : GE-2 (B)
( Environmental Biotechnology )

1. oo e wa bet I Sfreq : 1x5=5

Choose the correct answer of the following :

(a) =R R RerFire w&R / Foare / T
WHRAN

Polluted water can be purified by using
microorganisms / pesticides / fishes.

) FI-wEEE RRRT T -7 / BR.-T /
fRor-@ / T-Q 1
Non-ionizing radiations are X-rays /
UV-rays / Beta-rays / gamma-rays.

(c) R (T YRS ST A TBFS A ?

( T8 T / weaRe / BRaNE / Safre
CoRawae )

Which of the following is not included
under in-situ conservation?

( National Park / Sanctuary / Zoo /
Biosphere reserve )

(d) IY 9FE B Fote 29 W/ o'/
T [ BRI |

An indicator of air pollution is Moss /
Fern / Lichen / Cycas.

24P/950 _ ( Turn Over )



(6)

(e) VXD A SRYS IS /. @FAAS [/
IS / ufse SR |

Silent Valley is situated in Assam /
Kerala / Africa / South America.

2. oxe R erEe tw o :

Write on the following in brief :

(a) ol
Acid rain
EE G
Chipko Movement
(¢ =’ AP

Biopesticides
(d) IR
Biomining
3. e frRRee eoe R=ge G frr (R e
wREA) : )

Write explanatory notes on the following (any
foun :

(@) TR Treor IR
Global warming

(b) W] IHT qi%H, v
The Forest Conservation Act, 1972
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3x4=12

&

4x4=16

( Continued )

(7)

(¢ Tobe g
Rotating drum
(d) TSI BRI, S3va
Brundtland Report, 1987
(e) <R AfdFrm
Environmental ethics
(1] AfERT
Antibiotics

4. I o7 T B2 I SRR BoPRR B Iy

ST QY I TompTR oy 1+3+6=10

What is air pollution? Write the sources of
air pollution. Suggest the measures to control
air pollution.

%31/ Or

TPTRR- TS AR ool 8 IRT IR
ST PR R BemerE 10
Discuss the various measures to create

environmental awareness among the general
public.

5. e WRagen {7 wwiw WRakeT
TR OF SRR TRF ACAGT FA | 2+4+4=10
“What is enzyme immobilization? Describe
briefly about the advantages and
disadvantages of the immobilization of
enzymes. .
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(8)

%11/ Or
o forar : 5x2=10

Write notes on :

(a) STFR AT

Degradative plasmids

(b) BIRT T
Stockholm Conference

% % %k
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